BEx

BRI

THOEE REERUVOESFFREFERTE
SIAeFIE EIRBRESEFSFSWMSEEBTR= G=LT--8_: £
1. B8 B SsFAoeeFEs5/32683 (83D
2. = B mEeEe=RU/ND BEE4O0O0OMm>
x~ = = =
FE2& BRI
A = =N :00 —~
1) TSRS 920 ~
2) RTI =FEE 940 ~
3B) BMIP3EREE - ZZ2TF2kmIP 1015 —~
a4 T V) TFEER 11:30 —~
5) AkkmMmiERERERESREES 11445 —~
S) X TV =1 /23RBS 12:00 —~
7)) RO Sy TFIEREE SsKm 12: 10 —~
8) T T RS 13:00 —~
D) 1kkmMT T3EREE - ZZ7F7500mMmT T 1315~
10) X7~ HIENISRTEER 1445 —~
11) AkmTP3ERAZS 1510 —~
12) 7R > = - L —X3R1BS5 1540 —~
2 RIJ -5 S A INSED 1/ 2 RN
BS| K = | &= = F 1/100 N&1{x'z
1 EEBEER= Eopzz
2 | EI=eFs Hopzs
3 |iEA e K
4 | BEEFIAezE Hopz=
5 |WisTEERE =[5
S | BHFEESE Hopz=
7| 2 RkEStE AT
8 |&EEsT S2B5e
O | 0HEEBHAZK T
10 |WEH=EES =055
11 |[COARuRE SRt T
12 | ch s RO+ =55
6> XTI H1/23RBs
[ VAN
fEH | Xoo 155 = =2 = J[[=Fiw
F 1/100
=
1
piN
=
2
AN
11> X7V HIERIREE
(RTFI =3I, 4IREED
1 8% 2 Ck 3 @Ex
fH | X IS = 32 = &1z
F 1/100 F 1/100 F 1/100
=]
1
TR
(RT) v =3RE8D
N 1 sk > @y 3 @
fH | XD I=S] = 32 = &z
F 1/100 F 1/100 F 1/100
=
1
piN




- Irxr
BERE B SHOEE #2ERUNEBRSIRTERTE

3) BkMTr ST Tr>aTPI)L - /N—a— 3RES

#H | Xoo | 2251 ES = =% = =) ) 1/100 [[=§iws
1 H 8 |fBR&EA Eopz
B 7 | 8RR B EopzZE
> H B8 |KIE57T AT
B IR | THRIEE Eopz=
3 H B8 | MKiE AT
B N | FHLEES= =25
" H B8 |EREREX Eopz
B 7n | BSRARR =[5
5 H B8 |[MEBZ=XKB8 =058
B i~ |REFS =[5
2k >S5 1 T x5 aP)b - JN—=/0 — 3RS
fH | X | 22581 S = % = =) ) 1/100 [[=Yiwa
1 H 8 [{ERARTHE T
B 7R
> H B8 |E=FH=ue =05
B | =aEH HopzE
3 H S EVNSSant— =058
B ™| =EEE=E =25
a4 H B8 |PTig#5ZR =S
B N EBSOS =2B5¢
BR| A# X A |s|H|[B|H|B|H|B|H|B|H|B|H|[B]|H|[B]|H]|B B
400| 10 1 1 H:
5) 4KmRERRERBS SESI
BS| XD K g2 B 1: HQB HSB H7B HGB H5B H4B H3B H2B H1B ;i &it | Bl& Z ; f\oo [[Etivd
1 8 |&HEDS 205
2 | R |(MBkE R
3 | T’ [JIAESRE WT
4 | B [WEBA S
5| & [NEEAI MT
6 | BR [FIBE MT
7 | Ok |RIBBE Hof%
8 | BF Py S
9 | B |EBEWE Hof
10 | BE | KAHEE [N
7O RS w TFERAES SKm
BS|IXo| K = F2Z = o F 1/100 &1z
1 B8 |s=3HEER =2B5%
2 £ | EE=70JL AT
3 TR | ARRRBUZ=ETT =2B5%
4 s | HFIIEE AT
5 = | ZBIEgEE = Bopz=
S B8 | E=RIT ==2B5%
e ISPl > e 1) AT
8 = | EAS R ES HOpz=
S IR | ENBBESE AT
10 | FB= | B =X8a8 ==[B5E




BERE I

FH6EE REERUVNESFFREFERTE
9 1KME T L+ =51 PIVERES
M| BS|XKD| K E= w2 ga) (2 1/100 N&{Tz
1 1 H |2JIEE /N
2 B
> 3 H [fBRIES Eop%E
4 B |EEAZ=HE (/N
5 5 H [B&R 3 Eopz=
] B |EEBIinZx Eofz=
4 v H |54 T
8 B |EEFILEE Eopz=
s S H | ER&EFH (/N
10 B [EBBFELET Eop%E
& 11 H [JE3BERX (/N
12 B |B=SREAER =
~ 13 H | WIETEE 5
14 B |¥EFREXR T
s 15 H [fs3sZ=e Rk
16 B |RERIT =2l
S 17 H | 0HREHAZK /N
18 B |[Z£E5T =l
16 19 H |fisWsEss =2l
20 B |BBER /N
1A 21 H |[(PEEER =2l
22 B |pkERE /N
1o 23 H | EBES{EEm =l
24 B [IRE£3 =
13 25 H [BREBE /N
26 B [ RANEX =2l
ia 27 H SO EB&X =2l
28 B |chPAF 04 =l
9 500MEP 1L+ =51 J7)UREES
#B S|XKD| K e w2 ga) E 1/100 &z
1 1 H [E/RARTBE (/N
2 B
> 3 H | =& =z = ol
4 B [Iis#EZ< = ol
3 5 H [=5@E3 Eop%E
] B [|fAIFEE =2l
4 v H [EZEB505 =
8 B |E=H==uC S B5e




- Xrxr
BEERR SH6EE HLERUNESSHEETERT:

fHd

4> T IUVFE 1/ SIS TRES

BFS|Xo| K B | & = 2 1/100 | {xz
1 B |uAESE =2B5e
2 = | RKNEX =2B5e
3 IR | IRABETE AT
4 = | BFHrE=SE B0z
5 & |JEBBEEX T
6 | B2 | il Bopz
4> ‘1 I FBE 2#8 SIS THREH
BFES |IXo| K = | & = e 1/100 | {1z
1 B |P" 88X =al
2 £ |[HWRBEBE T
3 7n | fislISESS =2B5e
4 = | FEEFREXR T
5 = | EEREXN Bopz
6 | B8 |ESFREET Eopzs
10D 1 Z/3REs
BS|Ko| K S % = e 1/100 1= R v
1 =i
2 ==
3 DA
4 =
5 =
ISERR=F 2

13) IRV« UL—RES

ioeg 112134516718
BE|EO = 15 5% SE51 A
400] 40 = o8 34
16 Km B 3& 2m Kmih
1ﬁ 45 1R
58
_ N 1234|5678 |mEas N
w5s x| K glre = BE S =i | ek
s = 35(30|25|20[15[10| 5 | G | B= | B=R -
1 | & |z i
2 | = |wo= 5
3 | # |=emx Hop%
4 | 5 |EneEs WT
5 SRl ENET DN =l
6 |Bos x5 WT
7 | e |mar s e
8 (o= |mEse WT
9 | B |MRIEE EClry
10 |88 | L= ol




BERE I

1) F—A« ATUY MRS

FH6EE REERUVNESFFREFERTE

@ |xo S 2 B 2| o | w | e | wEm
BT EIRBE
H PRI IS Hop
1 ey
AR IRk
B A EE AL HEEE AT
WEEE
SR BT
2| H ST LEEA AR 05
cPIRORT
12) 4AkmF—/\ » /JN—/ 0 — 3RS
fH | XD K = % 2 ) EX 1/100 [=iws
P popyp—
H BISES = ¥R EEN Eofzz
1 SEBRFEAE T E@REE
pN5pav F)IIEBE
B SRS ey ——— AT
N EEDIL HeaEE
paEE AT FOR
2 H EFHEEF KREBUETT S5
SO _EBEX REFS
BRERG (BnEER) FRON BERIGER - HEER - BEIEl
] . 4 | o
b | P (7705 AN KA POERE. PROMY ReAn o il 2 &
FRE ) = fi1
E
wI
Fh
T5




